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I Semester B.Sc./B.Sc. (FAD) Examination, January/February 2925
(NEP) (Hepeaters)

LANGUAGE SANSKRIT - I

Mahakavya-Kiratharjuneeyarn - I & ll Sarga
(Grammar and Comprehension)

Time : ZYz Hours Max. Marks : 60

lnstructions : i) Answer in Sanskrit/Kannada/English.

ii) O. Na. l, Vl and Vll shoutd be answered in Sanskrit.

L q{-*-{q wr fuga r

iooisd w{ddd1 crotr udo$o.

Select the correct answer and write.

1) 'fmrror{-$qq' Eranq q-of q' ?

3T) sTf{fl€: 3n) *mS, S) t+nfu:

2) 6€unq 3Tks: 6: ?

^-\ o$-
'11 / 

+l l+l: en) gaTu-+: e) ex$,

frrTrq' fiSii: ?

er) frfudsql: 3n) gsw:

3)

5) U{kd: s: ?

BT) 3trS{:

6) €q-qs 5* or
sT) *dT

7) T{tF: 6' ?

w) tfi{:

B) wflsR.s. ?

w) gfrtr+:

: erfrf*q i
Bn) g*q

$.

en) rg;m:

?

3[r) f,RT

3rT) gmqq.

q) gr<ut:

g) Bma:

E) sotq:

E)ffi

{) :r$q,

r) fr'

{) q-rq'

$y gftR{:

{) q.rqsqr,

{) ws,

{) *tq'

$l quq-fr

{y gPTfti:

$y gPTft{:

(1x8=8)

qrk$.{i qrrrrd

3{) gier

4)

-ur\ =sa.vrr/ -r1,\r.

P.T.O.

I



NP - 058 -2- llllllllllllllllllllilffillllllill

ll. l$eyt+tq E{i frIg-d I (1x8=g)

e.od:6d.ri erudoxr.

Answer any one question.

1) Irrr*rq*q dqrE.nft ftre-d t

d:mttad, d sE rarlSdl zodou:o.

Write the characteristics of epics.

zy @{vw yPlqqrte {rri{i ft"so r

6ocaox:r&eod:d $d;S: irlrd rooaodddl udos:o.

Write the summary of the first canlo of Kiratarjuneeyam.

ut. g*:EgftH"trksd I (2x4-B)
.rdd: ado$d$dl d:o& e.:Su o,:d$ udouo.

Write short notes on any two of the following.

1) qrq.

2) ffi
3) 9fltlTo-SetT:

4) etqi.

lV Tgurt dsnTt 3rjqrq E-ceT 
jtqyF 

r {4x3=12)
3;-Et;:5d..G SrC), i"q-:UnVi: si;;S;,Ji, ;#O:,.

Transiate and expldin any four of the Shlokas.

1) ffi frrirffq frurgfir;tr-c} eqq-JsrqBrrq qud: I

€ Eiq-+qr$ ffi fthibarefkfr qrqqr* l
z1 u fueur €Tg { {nft qtsflsr"i frdrs u: eiflJa a ft rg: I

q-qrj{dg fr 5dA rfr @ q EdEEqE' | 
|

B) fneri qrr q qmf"tri E {fqrr fr{-dq ufuqrq r

xq-'ia ns ffisrTfu* y.{TTn"}. frqT q qkqr rr
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+1 fren+{qnqfta.@rrka: I

@:gnfldrrr*.rqqR€H(: I
5) Fnsurqrq qfr q-Srg+ &ili qr*q fttqfua: r

q td"qa) {s ,rq} q fr &i yqruftER 
Evr frtfrur: u

6) q-qR t X#rq: q{rqEi rrqft vrrrBg Q q qrk{; 
1

yfqqfrE{R@g}qq;1s

v. g*: q<ri frgga r

C>demddn addd dodqJrddl udos:0.

Annotate any two of the following.

1) sn-& $d,eeqBfrFnr r

2) &i xqqgfrFwR {vr fr*fur: I

s) qt{ +ii q,rff SSq{: r

4)ffiir{q}Nr
vt. {q;a:{rqqr Bf,rrFr frso r

no{d ryrdo$e)_en:do:r.

Answer in Sanskrit.

:n) {q'ar{qrqt emi r+{d r (qflqr+q)

1) rI€fr 
,*

2) sl6ar

3) qen-den

4) qfr
s) gf\&:
6) ut
7) qfr'

8) eS: I
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(2x3=6)

(5x1=5)
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sn) qanai ftm-mm-Tqqrfr ftrsa t

1) rFT:

2) qcltR'

3) t{
4) Ut
5) ${*I:

6) {l{q
7) tnqq:

B) T*1-<: t

vlt. Eq qfidq qBsr sq-{Hrq sf,{rFr frso t

I Iilililt ilil ill ilil ilil llll llll

(5x1=$)

(4x2=8)

qfr{Bq q} q*ont <i eqfr{q I qd: q : ou}a: ((€T tot rftmoq-q 3ITSE t

sftfrt qqtn' srut smrrrqlfrq"r{ s{ffi sEqtr e Sffis I (rE$ \s:
qFf,: d{rrkT: r sliqnq,q}mn *w q: 3t-&q 9{F{: 3+rqE I @Tet: q3} dsqsqr{
frfufts{ft r fege-oqmrfri E6il sq}-dl: EEet: ait uifti ry} aemq I dql se
qqtat: qr& qqrr 3ltrq1 |

}TFII:

1) x"q]ilqi eo Sr e€ft s ?

2) yfdRt qqtm, fr B-dR s ?

3) sfu*g q',ssf,: 3+{q ?

4) m,qlm' 8fr1{€t: 3{${eFI


